SK 0182NB l f

SK 0182NB/A
k1Bre
k1
107 m n
_[20
a1
%E T = o | |o
S Lm 5 =
— II)"
e J
T'e} ] Yo}
g ’_J_L g 100
| e A
= ®i8 — RS
3 94 3 o i S e
100
SK 0182NB/V
kBre
k
157 m n
20
21
- T = o] |8
S *@]ﬁ L -
~| Mm10 &
ie) 5 40 28
‘el LB
7 = .
50
3 94
SK 0182NB/AB = A27 100 2
|
1}
|
Il
* omaA4s 63 S/L 71 S/L 80 S/L
g 130 145 165
g1/ g1Bre 115/123 124 /1127 142 /143
k1 / k1Bre 299/ 355 321/379 343/ 407
= C101
k / kBre 349 /405 3711429 393 /457
m / mBre 12119 20/27 22 /26
n/ nBre 100/ 132 100/132 114 /153
p / pBre 100/ 87 100/ 87 114 /108

Ce8

G1000

www.nord.com



SK O182NB

SK 0182NB/AF
k1Bre
ki
n g1Bre
= 1. {
= -T [S)]
100
i | .4’\'
22 w00 | o] L -
SK 0182NB/VF
kBre
k
179 m n g1Bre
42
g1
g n_T EltL % a4 &
- — =
_ N
© © Tﬁ ® j/
E‘— o ﬂ Wl 5 40 28
Q
E B
|
= .
MIOZ | 5 119
al [ b1 |cl1|el| f1| s1
140 | 95 | 10 [115| 3,0 4x9
SK 0182NB/AB =t A27 100 12
[
1
|
I
* omags 63 S/L 71 S/L 80 S/L
g 130 145 165 .
gl/giBre | 115/123 | 124/127 | 142/143 *
k1/k1Bre | 321/377 | 343/401 | 365/429
k / kBre 371/427 | 393/451 | 415/479 P C101
m / mBre 12719 20/27 22726
n / nBre 100/ 132 100/132 114 /1 153
p/ pBre 100/ 87 100/ 87 114 /108

www.nord.com

G1000




SK 0182NB l f

SK 0182NB/AZ
k1Bre
k1
107 m n
%0
4Y<Q11
— T g
SIEAL s
© @] e
Sio| tafH A1 I1s
S5 S} ’J_L S
L e
13 78
20 | 64
3. %4 |3
100
SK 0182NB/VZ
kBre
k
157 m n
20
Tr

196

o
« rel
| M0 o
R e | I
%g(g T
Q- o~
g 'y im
i
63 78
70 64
94 |

5 40

196

t o A4S 63 S/L 71SIL 80 S/L
g 130 145 165
g1/giBre | 115/123 | 124/127 | 142/143
k1/kiBre | 299 /355 321/ 379 343 /407
k / kBre 349/405 | 371/429 | 393/457
m / mBre 12/19 20/27 22/26
n/ nBre 100/132 | 100/132 | 1147153
p / pBre 100/ 87 100/ 87 114/ 108

4
g

= C101

C70

G1000

www.nord.com



SK 0282NB

SK 0282NB/A
kiBre
ki
118 g1Bre
28 q’
T Toan 12
\ T
w Eq fffffff e |
R
o o
3 116 3
122
SK 0282NB/V
kBre
k
168
28
T o1

] 5

225 kb
o=

T

]

50

SK 0282NB/AB =>m A27 SK 0282NB/ASH =>m A22 @—'B-J
160
BE =
| o e — WE WJ I ~
= = S
1l S f—uﬁ:—ﬁ = d_‘ H
30 40 —
i e — je 2 %
T — ! \ o 172,5
T —— %JS I — | =
=
t omags 63 S/L 71 S/IL 80 S/L 90 S/L
g 130 145 165 183
g1/g1Bre 115/123 124 /127 142 /143 147 /148
k1 / k1Bre 310/ 366 332/ 390 354 /418 394 / 469
k / kBre 360/ 416 382 /440 404 / 468 444 /519 PHI C101
m / mBre 12/19 20/27 22 /26 26 /30
n/nBre 100/ 132 100/ 132 114 /153 114 /153
p / pBre 100/ 87 100/ 87 114 /108 114 /108
www.nord.com G1000




SK 0282NB l f

SK 0282NB/AF
k1Bre
k1
m n glBre
‘6 g
= (]
3 2
20 122
SK 0282NB/VF
kBre
Kk
1388 m n g'Bre
48
211
N
0 1 - 5 o | |o
L =)
<
—_— o
©f | i E @ j/
5o Lol 5. 40 28
S8 St ?J: r b@
;7an r—‘ —L ©
4L 50 139
al | b1 |cl| el1| f1 | s1
160 | 110| 12 | 130| 3,5 | 4x9
SK 0282NB/AB =1 A27 SK 0282NB/ASH =wm A45 & f
160
BE o
| o =T = IRIES
g 3 3 [
I *SA*—\-—._:—-E = i
30 40
[ o] © 3 55
S \ - 172,5
i § 4 ‘ P
tomads 63 S/L 71 S/IL 80 S/L 90 S/L
g 130 145 165 183
g1/g1Bre 115/123 124 /127 142 /143 147 /148
k1 / k1Bre 330/ 386 352/ 410 3747438 414/ 489
k / kBre 380/ 436 402 / 460 424 | 488 464 / 539 = 101
m / mBre 12/19 20/27 22126 26/30
n/ nBre 100/ 132 100/ 132 114 /153 114 /153
p/ pBre 100/ 87 100/ 87 114 /108 114 /108
C72 G1000 www.nord.com



SK O0282NB

SK 0282NB/AZ
k1Bre
Kl
118 m n
28
Ei@ﬂ
- NH = o] s
B S LM £
9 M
oL S s
ol
S| 1 S 122
Sl = ,L 1 _
QT [ [
HE e =
14 74,5 0] 40
24] | 55
3 116 3
122
SK 0282NB/VZ
kBre
m n
= = o] |g
= — / .23
o~
olL
S8 5 40 28
: = &Yy
o]
SK 0282NB/ASH om0 A2 (3 T ]
160
ny—— P = Ml H
ol T T ~
33 S i S
- A& L
————g © \ i
30 40 —
A o] 1e 3 55
- = ! \ o 172,5
v g I — | 2
* o Ad5 63 SIL 71 SIL 80 S/L 90 S/L
g 130 145 165 183
g1/g1Bre | 115/123 | 124/127 | 142/143 | 147/148
ki1/k1Bre | 310/366 | 332/390 | 354/418 | 394/469
= 101
k / kBre 360/416 | 382/440 | 404/468 | 444/519 L c10
m / mBre 12/19 20/27 22/26 26/30
n/nBre 100/132 | 100/132 | 114/153 | 114/153
p / pBre 100/ 87 100/ 87 114/108 | 114/108
www.nord.com G1000




SK 1382NB l f

SK 1382NB/A

k1Bre
ki
170 m n glBre
>4'<,34 gl
a1 14
it ~ i
WTT 5
o & =
) = J 3
e — [{e)
L 2
2 3 176
() [S]
[ i 21D
- e — I N
3 170 3 60 60 Eﬂ
176
SK 1382NB/V
kBre
k
230
_34
211
WTT ,,,,,,, LS
9 L”’]ﬁ L g
Tl M10 = —
N H:T / 2
o 5 50 33
g | B
7 o
60
3 170
SK 1382NB/AB =m A27 SK 1382NB/ASH =m A22 Tr
176 235 290
=
, s B ;. .
wn N R S 1 A ] o)
1l ®§A 2 S
e e W Sy = 4
== L
|40 | 45|
[ ©f - © 3 67
—_—-— - ——22 = 2355
Vo—— s T 1
IS =
t o[ A45 63 S/L 71 SIL 80 S/L 90 S/L 100 L
g 130 145 165 183 201
gl1/g1Bre | 115/123 | 124/127 | 142/143 147/148 | 169/159
k1/k1Bre | 362/418 381/439 | 403/467 | 458/533 | 488/579
k / kBre 4221478 | 4417499 | 463/527 518 /593 | 548/639 = C101
m / mBre 12/19 20/27 22126 26 /30 32/36
n/nBre 100/132 | 100/132 | 114/153 114 /153 | 114/153
p/ pBre 100/ 87 100/ 87 114 /108 114/108 | 114/ 108
C74 G1000 www.nord.com



SK 1382NB

SK 1382NB/AF

K1

Bre

glBre

0g

S
3 60 60 Eﬁ
28 176
SK 1382NB/VF
kBre
K
258 m n
62
11
0 APy - E o1 |2
© - L g S|
-
© T'@Z P j/
o € -
- Al T 5 50 33
O
=8 sty [ SN
- — o
MIOF | g9 201
al | b1 | c1 | el f1 s1
160 | 110| 12 |130| 3,5 | 4x9
200|130 12 |165| 3,5 | 4x11
SK 1382NB/AB =>m A27 SK 1382NB/ASH =>m A22 & {
220
=
_l—'_\—@ H
| O’wa T J:| o
T 15— 2
Il = — 8 4
== L]
|40 | |45 |
| o] © 3 67
= 2355
.. o =T
@A —
* o[ Ad5 63 SIL 71 SIL 80 SIL 90 S/L 100 L
g 130 145 165 183 201 .
g1/giBre | 115/123 | 124/127 | 142/143 | 147/148 | 169/159 *g
k1/k1Bre | 390/446 | 409/467 | 431/495 | 486/561 | 516/507
k/kBre | 450/506 | 469/527 | 491/555 | 546/621 | 576/667 =l C101
m / mBre 12719 20/27 22726 26 /30 32/36
n/nBre | 100/132 | 100/132 | 114/153 | 114/153 | 114/153
p / pBre 100/ 87 100/87 | 114/108 | 114/108 | 114/ 108
www.nord.com G1000




SK 1382NB l f

SK 1382NB/AZ
k1Bre
k1
170 m n
34
iﬁ;@m
-— T = o] |g
2 gl ll iL H
= =
M=l )
ole - Jj &
< o S
gétji g # g . 176
of . o1/
— 8 ali= Y
19 1 [T726 s : sz.m Eﬁ
31 100 60| o 383
3 170 3
176
SK 1382NB/VZ
kBre
k
230 m n
_ 34
Ei@ﬂ
60 |3 T = o | |&
9 6>,Lm]ﬁ L = M8 4x13
| M10 -
o< < Rv‘
< o
S| s 5 50 33 2
4 | = g
79 126
91 100 | 2115
L 170 | 152
SK 1382NB/AB =m A27 SK 1382NB/ASH =m A22 s
220
| JIUEN < 7.
Sl —1— 1118 It o111 o 1o | IS
1l ST S Ll
I e = L
40 45
I A o~ e 3 67
= - © I e 235,5
T e W “éﬁf T &
=
t o A45 63 SIL 71 SIL 80 S/L 90 S/L 100 L
g 130 145 165 183 201 '
g1/g1Bre | 115/123 | 124/127 | 142/143 147 /148 | 169/159 *‘
k1/kiBre | 362/418 | 381/439 | 403/467 | 458/533 | 488/579 101
M
k / kBre 422478 | 441/499 | 463/527 | 518/593 | 548/639
m / mBre 12/19 20/27 22/26 26 /30 32/36 a
n/ nBre 100/132 | 100/132 | 114/153 114 /153 | 114/153
p / pBre 100/ 87 100/ 87 114 /108 1147108 | 114/ 108
C76 G1000 www.nord.com



X g

SK 1282

SK 1282A SK 1282V
k1Bre kBre
k1 Kk g1Bre
13 m n 173 m n g’
34
SETS 34 Ea
21 M10 211
\ =
T Y ) —H g ~N |
“a ] |3 60 = a8 =
o) E 2 0 4 E
© & JJ -— )J © = RN — JJ o
‘7 (= g - I N
To) Te) 5 50 33
< —L — ~ S d=1I— -H =
QE r[%S 122 8 s 00 0
[ E——q\ ~
N Rl PR === ¥y ———
S ‘ ‘ IANSDY/
122 0] m 15 158
SK 1282AF SK 1282VF
28 113 175
e |®
oy o T
2 E ) s
1
e
al | b1 |cl|el| f1 s1
200 130| 12 | 165| 3,5 | 4x11
~ —— ]
SK 1282EA SK 1282AB =m A27 SK 1282ASH =m A22 &
122 19 162
DIN 5480 N
K ? S == [
g [ ITTg o7 = g
1} g _‘-_‘_'_ﬁ Ag U
5 | 33‘ | 33 22
100 <é«1> <»4—O‘>
122 ) ol — Je 4 55
e 5 ! \ o 174
N30 x 1,25 x 30 x 22 x 9H I mgjﬂ 3 | | g
=
+oA45 | 63 S/L 71 S/L 80 S/L 90 S/L 100 L 112 M
g 130 145 165 183 201 228 .
g1/g1Bre| 115/123 | 124 /133 | 142/ 143 | 147 /148 | 169/159 | 179/170 *‘
k1 /k1Bre| 309/365 | 349/407 | 374/438 | 415/490 | 445/536 | 468 /561
k/kBre | 369/425 | 409/467 | 434 /498 | 475/550 | 505/596 | 528 / 621 = €102
m/mBre | 16/23 42/ 44 47/ 51 52 /56 58 /62 74178
n/nBre | 100/132| 100/132 | 114/153 | 114/153 | 114/153 | 114 /153
p/pBre | 100/87 | 100/87 | 114/108 | 114/108 | 114 /108 | 114 /108
www.nord.com G1000 C77



SK 2282

X g

SK 2282A SK 2282V
k1Bre
k1 glBre
131 m n n gl
_|38 16
o4 M12
i N7 | N
ﬂ =a ] |8 70 call |9 [IF=
- = = - 5 =
5 | 4 =) S\ o =20 T
T (=
w % i
3 T 3 o 5 60 _38 f)\
Q
L g = 2 = L i 2 &J o
[ ~ [ — o
§H i .qa ' ————
5 126 8 IR ‘ N\
130 o i = 126 190
SK 2282AF SK 2282VF
_ 35 131
_lcll®
L 139
©o| = ~ ©|Q
3 55 QF ‘ '49 3 g
SIESI ﬁ 8 ! ] RS = 83
S I Jﬂj 50_] 50 m =
LA
2
al | b1 |cl|el| f1 s1
250|180 | 16 | 215| 4 | 4x14
SK 2282EA SK 2282AB =m A27 SK 2282ASH =@ A22 rE|
139 23,5
DIN 5480 N 195
=
> s B 4 B
n o)
j I S| 8 3 L S
o L = — S u
2 T
115 45 - —
| ©] - © |5 78
- ! \ o 209
1l N~ | | [5e]
N35 x 2 x 30 x 16 x 9H S = S
+ oA45 | 71S/IL 80 S/L 90 S/L 100 L 112 M
g 145 165 183 201 228 .
g1/g1Bre| 124 /133 | 142/143 | 147 /148 | 169/159 | 179/170 *‘
k1/k1Bre| 361/419 | 386 /450 | 427 /502 | 457 /548 | 480 /573 108
om
k/kBre | 431/489 | 456 /520 | 497 /572 | 527 /618 | 550/ 643
m/mBre | 36/43 | 41/45 | 46/50 | 52/56 | 68/72
n/nBre | 100/132 | 114 /153 | 114 /153 | 114 /153 | 114 /153
p/pBre | 100/87 | 114/108 | 114/108 | 114 /108 | 114 /108
C78 G1000 www.nord.com



X g

SK 2382

SK 2382A

k1Bre

k1

60

211

)
fe)
S)
5 8
SK 2382AF
_ 3 131 _ 60
cl |#

SK 2382V
kBre
k
201 60
38
=1
M12 @14 m
70
- 2
™ ﬂ O
<

© o

'Y —

)

2]

Q

S
126
SK 2382VF
201 60
52
cl ||¢

giBre
gl
16
— |
— |
Q§ 5
2
i3]
— li;
>
I
190

o o
SIS
E
al | b1 | c1 | e1| f1 s1
250|180 | 16 | 215| 4 | 4x14
SK 2382EA SK 2382AB =m A27
139 23,5
DIN 5480 N
gL L T % '
1l
5 | 40‘ | 33 29
110
139 I
N35 x 2 x 30 x 16 x 9H L
tomas5| 63SIL | 71SIL | 80SIL 920 S
g 130 145 165 183 )
g1/g1Bre| 115/123 | 124 /133 | 142/ 143 | 147/ 148
k1/k1Bre| 387 /443 | 427 /485 | 452 /516 | 493 /568
k/kBre | 457 /513 | 497 /555 | 522 /586 | 563 / 638 m C102
m/mBre| 16/23 | 42/44 | 47/51 | 52/56
n/nBre | 100/132 | 100/132 | 114 /153 | 114 /153
p/pBre | 100/87 | 100/87 | 114/108 | 114/108

www.nord.com

G1000

C79



SK 3282

‘X g

SK 3282A SK 3282V
k1Bre kBre
K1 k g1Bre
151 m_ n 241 m n gl
_139 39 e
214 M16 14
17 \ R Iy
ﬂ 3 %0
3 - 3 61 e
o~ ,o\o — /_/ N ~ — %
- & © — k )
S T S 174 S A== al )
. =
2 Ej [ [ v.ﬁ'.\ 1
6 162 6 I3 I i
e = = b 162 226
SK 3282AF SK 3282VF
I)40 151
i
e ®
L 174
o] ™~ I ~ ¢
J o7 )T D) 5
SIESIES; ﬁ JJ g T i ‘E%v 8l g
I [ 58 58 433
o
5
al | b1 | c1| el | f1 s1
250(180| 15 | 215| 4 |4x135
300|230| 20 | 265| 4 | 4x14
. 1
SK 3282EA SK 3282AB =i A27 SK 3282ASH =01 A22 & |
174 23,7
DIN 5480 N 225
‘ Iy L —— P s [ H
g [0y of2 =
1} Sig e § I S|
8| 4 50l |34 ==
} | 140‘ 41 55
174 L A R o] © 6 78
R — e < ) \ - 246
[ S S T g ‘ ‘ g
N40 x 2 x 30 x 18 x 9H g S S
toA4s | 71SIL | 80S/IL | 90S/L 100 L 12M | 132S/M
g 145 165 183 201 228 266 ‘
g1/g1Bre| 124 /133 | 142/143 | 147 /148 | 169/159 | 179/170 | 204 /196
k1/k1Bre| 381/439 | 406/470 | 447 /522 | 477 /568 | 500 /593 | 586 /693
k/kBre | 471/529 | 496 /560 | 537 /612 | 567 /658 | 590 /683 | 676 /783 =i C103
m/mBre | 36/43 | 41/45 | 46/50 | 52/56 | 68/72 71151
ninBre | 100/132 | 114/153 | 114/153 | 114 /153 | 114 /153 | 122/185
p/pBre | 100/87 | 114/108 | 114/108 | 114/108 | 114/108 | 122/139
C80 G1000 www.nord.com



@l. f SK 3382

SK 3382A SK 3382V
k1Bre kBre
K k g1Bre
= 70 241 60 gl
39 =
=
M16 @(ﬁz
@] o |
iy & 001 ®
N %)
ggj i /) S
g ‘ iR/ =
) 58 58 m —
6, 162 _|| 6 162 226
174
SK 3382AF SK 3382VF
40 151 60 241 60
=] 53
_let|e o e rr
”L 174
ol & - . / o © ‘h U
<EE == NS EEE ]
di 58 58 pxxl 2 I
4 f1 L =f1
— s 50 ‘
%0_|| 6

al | b1 | cl1|el| f1 s1

250 180| 15 | 215| 4 | 4x13,5

300/ 230| 20 | 265| 4 | 4x14

) ——
SK 3382EA SK 3382AB = A27 SK 3382ASH =~ A22 @
174 23,7
DIN 5480 N 225
[~ 7_0—'—\_% T~ Mo
g | L ] £ ! /T - 8
I ®g S =
) - A& L
8 41 50 34 41
140 |41 55
174 L A R @] o || 6 78
T . 3 e s S
N40 x 2 x 30 x 18 x 9H mg & g
toA45 | 63S/IL | 71S/IL | 80SIL
g 130 145 165
g1/g1Bre| 115/123 | 124 /133 | 142/ 143
k1/k1Bre| 407 /463 | 447505 | 472 /536
= C102

k/kBre | 497 /553 | 537 /595 | 562 /626
m/mBre | 16/23 42144 47 /51

n/nBre | 100/132 | 100/132 | 114 /153
p/pBre | 100/87 | 100/87 | 114/108

¥

www.nord.com G1000 C81



SK 4282

‘X g

SK 4282A SK 4282V
k1Bre kBre
k1 L k glBre
188 m _n 298 m gl
_[48 RE 18
022 M20 022
ST \ E:&r
ﬂ = = ) N ﬂ = =]
g Hal | g 110 = a Sl [
o - s 7 =
5 g |I="_ 2. e I=200 s
5% = c T N A <
EE i e 0 1090 59 KQ
S S = = NREN NI
N I = ﬁ
7 ,© 8i : %pzzz
; 1215 ; Tt 55 Eﬁ 181 255
SK 4282AF SK 4282VF
35 188 298
53
,
_lc & cl || ¢
. 19 1090 59
~ I~ «© =
ik B s i Y = o
s 85 o N § 8y =
65 ] .65 538 Iy
L =1
A — 75, ‘
10| 7
al | b1 |cl|el| f1 s1
300|230| 20 |265| 4 | 4x14
. —h
SK 4282EA SK 4282AB = A27 SK 4282ASH =m A22 (& i
195 24,7
DIN 5480 N 261
§ g —— B IﬂJ w1
gL VL T % ! gl - 5
Il LR 7_.__‘_,_@ S L
10 43 53 35 5 55
160 [
195 L) o] -~ © 7 | 88 |
e = } | s 1 276
N50 X 2 x 30 x 24 x 9H I m@& S—= S
+ A5 | 90SIL | 100L 112M | 132S/M | 160 ML
g 183 201 228 266 320 .
g1/g1Bre| 147 /148 | 169/159 | 179/170 | 204/196 | 242 /242 *
k1/Kk1Bre| 464 /574 | 494 /585 | 517 /610 | 603 /710 | 680 /859
k/KkBre | 574/649 | 604 /695 | 627/720 | 713/820 | 790/ 969 = C104
m/mBre | 26/30 | 32/36 | 48/52 | 51/44 | 52/52
n/nBre | 114/153 | 114 /153 | 114 /153 | 122/185 | 186/ 186
p/pBre | 114/108 | 114/108 | 114/108 | 122/139 | 186/ 186
C82 G1000 www.nord.com




‘X g

SK 4382

SK 4382A SK 4382V
k1Bre kBre
K1 K
188 69 298 69
_148 =48
222 m n M20 222 m._n
@—B\f ‘h r
g N 110 ﬁ ~~ —
g o o E = o
B T BEAL = 4 BRI D
N © ) o H 0 1
- u € ¥ U
(@]
Y e - - ) 1 10 90 59 \E@ m
| I 2 Ij ‘ ‘ '..-4..\ S ] [ © K =
—— || SIS — R — — — =
7 181 7 65| |65 Eﬁ
: : 181 255
195 | 255 |
SK 4382AF SK 4382VF
_ 35 188 _ 69 298 63
53
A
¢l & cl || ¢
16 195 10 90
| ™~ o] ©
- = ] . [ ‘ < <l = _ |
cEE === NG EER =
Jj 65 ] L. 65 Eﬁ Iy
4” == f
7 >@<‘
- 10 [ 7
al | b1 | cl1| el f1 s1
300|230| 20 | 265| 4 | 4x14
SK 4382EA SK 4382AB = A27
195 24,7
DIN 5480 N
QL 1L T % !
L .
10 43 | 53 35 165
160
195 LR A R R
N5O x 2 x 30 x 24 x 9H ! mg%
toMA45 | 71SIL | 80S/IL | 90SIL 100 L 112 M
g 145 165 183 201 228
g1/g1Bre| 124 /133 | 142/143 | 147 /148 | 169/159 | 179/ 170
k1/k1Bre| 488 /546 | 513 /577 | 554 /629 | 584 /675 | 607 / 700
k/kBre | 598 /656 | 623 /687 | 664 /739 | 694 /785 | 717 /810 =) €103
m/mBre | 36/43 | 41/45 | 46/50 | 52/56 | 68/72
n/nBre | 100/132 | 114/153 | 114/153 | 114 /153 | 114 /153
p/pBre | 100/87 | 114/108 | 114/108 | 114/108 | 114 /108
www.nord.com G1000 C83



SK 5282

‘X g

SK 5282A SK 5282V
k1Bre kBre
K1 k glBre
203 m n 333 m_ n gl
25 =93 28_
222 M20 @22
\ fl
¥ — 7) (D
130 £ N RS ==
- - 7.5 =
< — < = — — 5
) g o ‘g g L )) S
0 T o 15 100 69
© ©| | —=—=1— -+ T
= L g »
) - ~
1 = ki
—
7,5 215
230 215 306
SK 5282AF SK 5282VF
_ 40 203 233
57
cl & i cl <+
230 15 100
338 RiE I \ S5 8 T =
[SIES | al o
- [ 75_] _!L 75 SIEl [
s =1
75 90
130 L7,5
al | bl|cl|el| f1| st
350(250| 20 | 300| 5 | 4x18
SK 5282EA SK 5282AB = A27 SK 5282ASH =m A22 _'$ ]
230 29
295
DIN 5480 N
c
el o) L 7~ H o
g | UL T £ : 83 - =
[ | Se= —T0 IS ,
15| | 43 | | 65| | 45 61 70 —
230 L A R R ©] - je || 75 | 95|
= ) \ - 317,5
U e — g | | g
N60 x 2 x 30 x 28 x 9H < S = 1=
+ = A45 | 90 S/L 100 L 112 M 132S/M | 160 M/L | 180 MX/LX
g 183 201 228 266 320 358
g1/g1Bre| 147 /148 | 169/159 | 179/170 | 204 /196 | 242/242 | 259 /259
k1/k1Bre| 479/554 | 509/600 | 532/625 | 618/725 | 695/874 | 825/930
k/kBre | 609 /684 | 639/730 | 662/755 | 748/855 |825/1004| 955/ 1060 =@ C104
m/mBre | 26/30 | 32/36 | 48/52 51744 52 /52 93/78
n/nBre | 114 /153 | 114/153 | 114 /153 | 122/185 | 186/186 | 132/ 162
p/pBre | 114/108 | 114/108 | 114/108 | 122/139 | 186/186 | 152/ 162
Cc84 G1000 www.nord.com



@l. f SK 5382

SK 5382A SK 5382V
k1Bre kBre
k
K1
203 69 335 69
_|53 =23
oo o on M20 @22 m._n
S \ Iy
% 130 %
\h E Q\\@
— B b 79| — e % S
<t B E
3 o = * 0 — )
M~ © N~ =
0 - h L € —
© o f==1 —L4t 15 100 69
ST = <
: T e
SIEe + -
Zoll 215 || 7.5 215 306
230
SK 5382AF SK 5382VF
40 203 69 333 69
= e 57
i
_c @ cl ||¢
14 230 1 15 100
|5y = —_— =) L
Sis JeEERQuier ) =
d// 75 75 Iy
_f 1
— |75 1 90|
- 130 L7,5
al | b1 | cl|el| f1 s1
350|250| 20 | 300| 5 | 4x18

SK 5382EA SK 5382AB =m A27

DIN 5480 N

[f9)
[te]

15|

NGB0 x 2 x 30 x 28 x 9H I DﬁL%JA

* oI A45 | 80 S/L 90 S/L 100 L 112 M
g 165 183 201 228

k/kBre | 657 /721 | 698/773 | 728 /819 | 751/ 844 = C103

m/mBre | 47/45 46 /50 52 /56 68 /72
n/nBre | 114/153 | 114/153 | 114/153 | 114 /153
p/pBre | 114/108 | 114/108 | 114/108 | 114 /108

g1/91Bre| 142/143 | 147 /148 | 169/159 | 179/170
k1/k1Bre| 527 /591 | 568 /643 | 598 /689 | 621/714

www.nord.com G1000 C85



SK 6282

‘X g

SK 6282A SK 6282V
k1Bre kBre
k1 K g1Bre
286 m n m gl
_1705 70,5 357
026 M20 226
1] \ E:D-\* 11
ﬂ 140 §
~ ~ 8,5 =
9L ; 8L
S 7.5 125
(@) [Te) )
gE —L g 1 - ‘
f sH D) =
8,5 : !!
' 273 el 273 350
290
SK 6282AF SK 6282VF
W0 286 427
T 60
cll |# i >% &
L 290
Lk T gr= i b LEY
— — = o D~
SESIS SH i SIS
ly 120 ]
f1 == 11
41 8,5 _|100|_
140 |/ 8,5
al | b1 | cl|el| f1 s1
400|300| 20 | 350| 5 | 4x17,5
450 350| 16 [400| 5 | 8x17,5
) _E"\-f
SK 6282EA SK 6282AB = A27 SK 6282ASH =m A22 &
290 29,3
= 370
DIN 5480 N
| | ST
_ _ Mg —— B s [ -
S e e sE=———H= fL_ iz
I S Se=——=—15 N
= i
15| 53 98,5 | 45 |Ei= | ]
| 7 85 S
245 e .82 |
290 [ R | o] _ 1e 8,5 110
Ne) =
<= [ - o 387,5
N70 x 2 x 34 x 9H I mg& S—H e B =
t o Ad5 100 L 112 M 132 SIM 160 M/L | 180 MX/LX | 200 L 225 S/M
g 201 228 266 320 358 398 398 '
g1/giBre | 169/159 | 179/170 | 204/196 | 242/242 | 259/259 | 306/306 | 306 /306 *
k1/k1Bre | 592/683 | 612/705 | 7221/828 | 778/957 | 888/993 | 974/1141| 974/ 1141
= 1
k / kBre 732/823 | 752/845 | 861/968 | 918/1097 | 1028 / 1133|1114/ 1281| 1114 / 1281 K105
m / Bre 32/36 45/49 71/64 521752 93/78 110/110 110/110
n/ Nbre 114 /153 | 114/153 | 122/185 | 186/186 | 132/162 | 192/192 | 192/192
p / pBre 114/108 | 114/108 | 122/139 | 186/186 | 152/162 | 260/260 | 260 /260
C86 G1000 www.nord.com



SK 6382

X g

SK 6382A SK 6382V
k1Bre kBre
k1 Kk glBre
260 m_ n 400 m _n gl
_ 7of5 70,5 35
226 M20 226
1] \ =]
ﬂ \\ o 140 |
o] S
™~ ™~ 8,5 E
— o) = — E——
¢ S M s e g L E
b 7,5 125
(&) Te) 5
= — 290 N| A== 1
SE = ‘ , .
[ \ N == =
\
8,5 z
273 120_] 2753 350
290
SK 6382AF SK 6382VF
40 260
Iy
_lc e
L 290
©| ~ = o]
=l Sk A o |E
NS EA s Si T T S & g
i) o] 12
f1
i
al | b1 |cl|el| f1 s1
400| 300| 20 | 350 5 | 4x17,5
450| 350| 16 | 400| 5 | 8x17,5
. B _B.\_r
SK 6382EA SK 6382AB =1 A27 SK 6382ASH =m A22 ®
290 29,3
T 370
DIN 5480 N
E HF|
0 0 of'\W——l—'_\—@ ~ e <]
g [Ty s == . M|z
] S §A S =
RN == — I
15]| 53 1985 | 45 . == HHH
245 s |85 |
290 | o] | © 8,5 110
z I e 387,5
N70 x 2 x 34 x 9H I N - — S
T =M@ A45 90 S/L 100 L 112 M 132 S/IM 160 M/L 180 MX/LX
g 183 201 228 266 320 358

g1/9g1Bre | 147/148 | 169/ 159

k1/k1Bre | 536/611 | 566 /657

k/ kBre 676/751 | 706 /797

729/822 | 815/922 | 892/1071| 1022 /1127

m / mBre

26 /30 32/36

48 /52 51/44 52152 93/78 > C104

n/nBre 114 /153 | 114/153

114 /1583 | 122/185 | 186/186 | 132/162

Y W = o C104

179/170 | 204/196 | 242/242 | 259/259
WVL= =il C105

589/682 | 675/782 | 752/931 882 /987

p / pBre 114 /108 | 114/108

114 /108 | 122/139 | 186/186 | 152/162

www.nord.com

G1000 c87



SK 7282

X g

SK 7282A SK 7282V
k1Bre KkBre
k1 Kk glBre
297 m  n 467 m _n gl
_[70 70 0
926 M24 026
S \ Eq—n\’ 17
m g ) o 170 | | e
g Sl S =
o E = o) 6 E
(2} )  — (<2 = g S — S
" 2 JJ o e 5L 3
o o o 15 140
gE —L s 310 g 1 {—- -+ ‘ .
[ oT% ‘ : LA [ == o
i e === =
7 77
298 00 X 298 410
310
SK 7282AF SK 7282VF
45 2% 467
62
el [® cl ||e
L 310 15140
O ™~ ©|©
1 E5 by g i e
ERSE i i— ] 83 ==
90 90 f
il 11
170_1 6
al | b1 |cl1|el| f1 s1
450 350| 22 |400| 5 | 8x18
550 | 450| 28 |500| 5 | 8x18
— 1
SK 7282EA SK 7282AB =m A27 SK 7282ASH =>m A22 &
310 29
= 395
DIN 5480 N
J\Wf—l—'—\—@ ~ I i o
g | (L T El ! = o g
I ,ghf_.__‘_,_ﬁ 3 |
15 47 86 60
T 7 250 | 81 | 120 | —
310 I e—— o e |8 109
2 5 ! \ o 413
N85 x 3 x 27 x 9H 1 mg& I - ‘ Y
t o(1A45 | 132S/M | 160 M/L | 180 MX/LX | 200 L 225 SIM
g 266 320 358 398 398 '
g1/g1Bre | 204/196 | 242/242 | 259/259 | 306/306 | 306 /306 *
k1/k1Bre | 732/839 | 789/968 | 899/1004 | 985/1152 | 985/ 1152
k/KkBre | 902/1009 | 959/1138 | 1069/ 1174 | 1155/ 1322 1155/ 1322 = C105
m/mBre | 71/64 52/52 93/78 | 110/110 | 110/110
n/inBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260 /260
C88 G1000 www.nord.com



SK 7382

‘X g

SK 7382A SK 7382V
k1Bre kBre
k1 Kk glBre
304 m_.n 474 m_n g1
_170 70 40"
226 M24 226
f \ BT
I Y —H E
af | g 170 %
2 0 ﬂ — .\ o =S 0
N a I M A ©
= =) 15 140
= = o 5
gE 7 [%g 310 g 1 - T—D =
[ gﬁ == 2
N =
6 208 _|| 6 18
=10 298 410
SK 7382AF SK 7382VF
_ 45 304 A47%
62
I
cl & cl ||&
14 310 15140
= i ~ A =t
| — g [ [ NYZRNCE )
§ 88 1] e D) 2ag= ] =
LF_ | % | 90 m
i — 11
8 1125
170 LES
al | b1 | c1|el| f1 s1
450( 350| 22 |400| 5 | 8x18
550 | 450| 28 |500| 5 | 8x18
—h
SK 7382EA SK 7382AB = A27 SK 7382ASH =m A22 4
29
310 2¢ 105
DIN 5480 N
. s BH o | <
N E=) o o~
” ] 1F o
81 90
I o] - © 6 109
=1 2 \ \ o 413
Il ) | | 0
N85 x 3 x 27 x 9H S =
+ o[ Ad5 100 L 112 M 132S/M | 160 M/L | 180 MX/LX 200 L 225 SIM
g 201 228 266 320 358 398 398 '
g1/9g1Bre | 169/159 | 179/170| 204 /196 | 242/242 | 259/ 259 306/306 | 306/306 &
k1/k1Bre | 610/701 | 630/723| 739/846 | 796/975 | 906/1011 | 992/1159 | 992/ 1159
k / kBre 780/871 | 800/893 | 909/1016 | 966/ 1145| 1076 /1181 | 1162/ 1329|1162/ 1329 =l C105
m / mBre 32/36 | 45/49 71164 52/52 93/78 110/110 | 110/110
n/nBre | 114/153 | 114/153| 122/185 | 186/186 | 132/162 | 192/192 | 192/192
p/pBre | 114/108 | 114/108| 122/139 | 186/186 | 152/162 | 260/260 | 260 /260
www.nord.com G1000 Cc89



SK 8282 @l f

SK 8282A SK 8282V
k1Bre kBre
k1 Kk g'Bre
344(360") _m _n 554 (569") m _n g
83 83 S
@3 M24 @31
\ SVl
) )= ol |
0 g o) 7 = £
<o} o  — O = o  — 00
© 2 — J @ 8 UN— S
(@) o
" 2 =) 15 180
gE —L s 366 = 1 —-——-t ‘ .
[ %Fj I Z [ JE——+I N
N [ [
7 352 7 S Z 7
154 154 352
366 FoL
SK 8282AF SK 8282VF
42 344(360") 554 (569")
62
;
>,C; @ cl &
L 366
g 5|8 - 88 Sz —
sl S " S
[ 154 ] 154
QQ 7 == f1
. 168
210 ‘7
al | b1 | cl|el| f1 s1
550|450 | 28 | 500| 5 | 8x18
. P——
SK 8282EA SK 8282AB =t A27 SK 8282ASH = A22 S
456
DIN 5480 N
= (=4 | ofE 7—0—'_\—@ ':\E I F‘Hl:‘ %]
2 [ P e e P A =
s S Sh———g '® B
15| 57 122 | 56 310 =
7 30 71 |99 |
366 [ 2 R e 2 7 134
= sl JFI—1—11s8 480 j
N105 x 3 x 34 x 9H " mgjg s é T — S
* oma45 | 132S/M | 160 M/L 180 MX/LX| 200 L 225S/M | 250m " 280S "
g 266 320 358 398 398 495 555
g1/g1Bre | 204/196 | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432
k1/k1Bre | 780/887 | 836/1015|946/1051|1032 /1199|1032 /1199|1120 / 1370|1190 / 1370
= C106

k / kBre 990 /1097 (1046 /1225(1156 / 1261 1242 / 1409|1242 / 1409|1330 / 1580| 1400 / 1580
m / mBre 71/64 52152 93/78 110/110 | 110/110 | 129/129 | 144 /144
n/nBre 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 234/236 | 234/236
p / pBre 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300

¥

C90 G1000 www.nord.com



@l f SK 8382

SK 8382A SK 8382V
k1Bre kBre
k1 k glBre
344 m._n 554 m n gl
85 _.83 50
@31 M24 @31
=]
) 210_| | ).
ol g g al |l |
g (@) S — JJ 8 7> o BE—4 JJ
¥ 9 ~E 3 ©
(= = N}
3 3 o 15 180 116
gE T 3 366 b A== | T @ -
[ %Fj N 1= N
E =22 /15 352
366
SK 8382AF SK 8382VF
_ 4D 344 554
62
f] 1]
ctl |# cl ||¢
~ L 566 & 15180 116
e iw — = o = ‘ - LLO e a = . g
g é gA ) SI:Oi L = ég N I -4777 @ %
I 154 _| I
f1
o),
al | b1 | cl|el| f1 s1
550|450| 28 | 500| 5 | 8x18
S -
SK 8382EA SK 8382AB =m A27 SK 8382ASH =>m A22 @
366 34,5
m 456
DIN 5480 N
™~ ~ H':‘
= = | ot T ——l—'_\—@ jny F‘* ©
2 [LIEL T e s s fl_ Mg
Il Sy == — IS L‘(
15| 57 122 | 56 == =
30 71 95
366 [ 2 R R e 2 7 134
= = 480
— | i m—— |
N105 x 3 x 34 x 9H S sS—=

t oMIA45 100 L 112 M 132 SIM 160 M/L | 180 MX/LX 200 L 225 SIM

k1/k1Bre | 651/742 | 671/764 | 780/887 | 836/1015 | 946/1051 | 1032/ 1199|1032/ 1199 WYL= P 106
k / kBre 861/952 | 881/974 | 990/ 1097 | 1046 / 1225| 1156 / 1261 | 1242 / 1409| 1242 / 1409
m / mBre 32/36 45749 71164 52 /52 93/78 110/110 | 110/110
n/nBre 114 /153 | 114/153 | 122/185 | 186/186 | 132/162 | 192/192 | 192/192
p/ pBre 114 /108 | 114/108 | 122/139 | 186/186 | 152/162 | 260/260 | 260 /260

=l C105

g 201 228 266 320 358 398 398 W = om0 C105
g1/9g1Bre | 169/159 | 179/170 | 204/196 | 242/242 | 259/259 | 306/306 | 306 /306

www.nord.com G1000 Ca1



SK 9282

X g

SK 9282A SK 9282V
k1Bre kBre
K1 Kk g1Bre
378 (3930) m_ n 628 (643")  m _ n gl
94 ot 55
231 M24 @31
I ) |
g ol | |8 250
<+ E < 10
[be] <~ e — 0 =] <«
? 2 } — B¢ & 3
3 3 =
gﬁ - s 430 S ==} i B o
~ (o)}
[ el N
glgi
100 410 10 410 647
430
SK 9282AF SK 9282VF
1
_ 56 378 (393") 625 (8431)
Iy
et |®
- 1 430 25 200 148
2 | I \ \ y 5
8 85 S REE= j = @:X
}_ JF 120 120 r
11
iy
250 !wo
al | b1 | cl1|el| f1 s1
660 | 550| 32 | 600| 6 | 8x22
— 1
SK 9282EA SK 9282AB =@ A27 SK 9282ASH =>m A22 &
430 34,5
= 535
DIN 5480 N
Yo} 'e) ':I\: — 1 BE E f F‘HF‘ ~|
8 [ Ir]s 8 21 3
= £l Sel 1 1= [ — g
I RSESSE—— S I
15 67 147 60 82 E Lﬂ:‘
370 52 1o
430 1 o] © 10 160
= 580
.. o F—T 1
N130 x 5 x 24 x 9H = = 2
t o A5 200 L 225 S/M 250 M " 280s" | 280M" | 3158" | 315m"
g 398 398 495 555 555 610 610
g1/g1Bre | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 500/ - 500/ - 1
k1/k1Bre | 1065 /1232 | 1065/ 1232| 1153 / 1403 | 1223 / 1403|1213/ 1503| 1325/- | 1485/ -
k / kBre 1316 /1483 | 1316 / 1483| 1433/ 1653 | 1473/ 1653|1463 / 1753| 1575/ - 1735/ - = C106
m/mBre | 110/110 | 110/110 | 129/129 | 144/144 | 144/ 144 132/ - 132/ -
n/ nBre 192/192 | 192/192 | 236/236 | 236/236 | 236/236 307 /- 307 /-
p/ pBre 260/260 | 260/260 | 300/300 | 300/300 | 300/300 380/ - 380/ -
Cc92 G1000 www.nord.com




SK 9382

a ¥

SK 9382A SK 9382V
k1Bre KkBre
k1 Kk glBre
378 (393") m _ n 628 (643) m_n gl
LA _ 94 55
@31 M24 @31

f1 ‘\ >ﬁ<—13\r

T N — |-
= ol |8 250

< = < 10 £ =

[ve] < — [e'e] = <  —

“’ g } S g g N 2

o o o @
@ 3 25 200
gE — = 430 g 1 ]
“ cpj ==
QN
10 410 10 1S ‘ —
' 430 120 ] 120 410 647
SK 9382AF SK 9382VF
1
56378 (393" 628 (6430
80
-
el [® cl ||¢
L 430 25 200 148
© ':\[ — ~ q o
< W 81 ‘ 7 , I3
(@) — | O]
EEE SR = T =
(SIS ®A — s z
120 ] 120 Jr
il =11
A _l194]
250 !10
al | bl |cl|el| f1| s1
660|550 | 32 | 600| 6 | 8x22
—h
SK 9382EA SK 9382AB =m A27 SK 9382ASH =t A22 &
430 34,5
= 535
DIN 5480 N
~ ™~ = HI:|
g [CECmE 2 e ME
| B da Tl hr—nlE
Il ,§A7_\__‘_,_E = L‘(
15 | 67‘ ‘ 147 60 82 110 Hl:l
370 = = |
430 [ A I S o] © 10 160
= < I e N 530
N130 x 5 x 24 x 9H I m@% QL 4] T —f
= = S
+ oma4s | 132SIM 160 M/L | 180 MX/LX | 200 L 225 SIM 250 M " 280S"

g 266 320 358 398 398 495 555 . W == C105
g1/g1Bre | 204/196 | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 *‘ WVL = 201 C106
k1/k1Bre | 813/920 | 870/1049 | 980 /1085 |1066 / 1233| 1066 / 1233 | 1153 / 1403|1223 / 1403
k/kBre |1063/1170 1120 /1299 | 1230/ 1335|1316 / 1483|1316 / 1483 | 1403 / 1653 | 1473 / 1653
m / mBre 71164 52/52 93/78 110/110 | 110/110 | 129/129 | 144 /144 ﬂ [ C105
n/nBre | 122/185 | 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300 /300

www.nord.com G1000 C93



SK 10282

)

SK 10282AZSH SK 10282vz
KiBre Bre
k1 K g1Bre
458 m n
758 m g1
o 43 - 143 80
B 3
== [ AR =5/} N
I = ;j o = zj >
10| S 300_| 110 = =
3 T JJ 2 S J o M36x54
& — @ Sf 25 250 b
© Sl ey 169 _
S 4o |2 .
Be e el i :
R | D © "
103 ‘ 270 403 270
350 M24 363 1] 350
8 480 185 8 488
683
SK 10282AFSH SK 10282VF
k2Bre kBre
k2 K
72 458 m n 758 m n
90| |
° | M —f= ] hie=
= g 300 = ij
SE—-—E 228 =
E— o
i S el |l
QL — | 25 250 S
1l s BE
I = S 3 el —
N 300
T® @ @ @ !
n f1
o= 480 _[185 M24 90 488
683
al | b1 | cl1|el| f1 s1
660| 550| 35 |600| 8 | 8x26
SK 10282ASH =m A22 660
g B
88 ——J-—1s
g '©
120 130
=y 7L
g 1 1 3
= = 1=
+ = A45 280 S 280 M 315S 315 M 315 L
g 555 555 610 610 610
g1/g1Bre | 432/432 432 /432 500/ - 500/ - 500/ - |
k1/ k1Bre | 1297 /1477 | 1287 / 1577 | 1399/ — 1559 /- 1699/ —
k2 / k2Bre |1369/1549| 1359/1649| 1471/- | 1631/— | 1771/- o C107
k / kBre 1597 /1777 | 1587 / 1877 | 1699/ — 1859 / — 1999 / —
m / mBre 144 /144 144 /144 132 /- 132/- 132/-
n/ nBre 236/236 | 2365/236 307 /- 307 /- 307 /-
p/ pBre 300/ 300 300/ 300 380/- 380/- 380/—
C94 G1000 www.nord.com



SK 10382

SK 10382AZSH SK 10382vz
kiBre @
451 (467! e kre q1Bre
we7) qmon 751 (7677) m n gl
ALK o 143 80
<+ <+ =
LT e T e
0] = 300_| Lo = @
3 T 3 o @ M36x54
£ B - ® e 25 250 0 I
o 169 I RN 2
A =TT 2o | 5 | e | &
un
€8 S T S g3 ‘s gt
s S S = N e
D D | D D " - - —
103 270 403 270 || M24x36 3
350 M24 363 1] 350 661
8 480 _|185 8 488 680
683
SK 10382AFSH SK 10382VF
k2Bre kBre
k2 k g1Bre
72| 451 (467) m n 751 (7671) m
90
= = T ) —e /
§ ;j i=d 300 il
o ) ) 9 228
8 in © el o
— 2 — |2 25 250 =
© =} ]’ M « © “E)v
o'y mE g < g =
o Q| o ©
= | I S & 300
e @ & S '
f1 ]| f1
- 480|185 M24 90 488 680
683
al | b1| cl1|el| fl s1
660 | 550| 35 | 600 8 | 8x26
SK 10382ASH =m A22 660
~ ~
o wa_!—' l—% T
Nl o \ o
Sl - I
S ———pg ®
120 130
=l Te
2 t 1 2
=] =
+ o1 A45| 132S/M | 160 M/L | 180MX/LX| 200L | 225S/M | 250 M" 280S" 280 M" 3158" 315M"
g 266 320 358 398 398 495 555 555 610 610
g1/ g1Bre| 204/196 | 242/242 | 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 500/— 500/—
k1 / k1Bre| 886/993 | 943/1122 | 1053/1158| 1139/ 1306 1139/ 1306| 1227 / 1477 | 1297 / 1477| 1287 /1577 1399/— 1559/—
k2 | k2Bre | 958/1065| 1015/1194| 1125/1230|1211/1378 1211/1378| 1299/ 1549|1369/1549| 1359/1649 | 1471/— 1631/— o c107
=@
k / kBre |1186/1293 1243/1422| 1353 /1458 | 1439/ 1606 1439 /1606| 1527 /1777 | 1597 /[1777| 1587 /1877 | 1699/— 1859 /-
m/ mBre | 71/64 52/52 93/78 110/110 | 110/110 | 129/129 | 144/144 | 144/144 132/- 132/-
n/nBre | 122/185| 186/186 | 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 307 /- 307 /-
p/pBre | 122/139 | 186/186 | 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 380/— 389/-
www.nord.com G1000 C95



SK 11282

)

SK 11282AZSH SK 11282vVzZ
kiBre
W kBre
k g1Bre
P 02 Lt 802 m _n q!
%v ° 5 _ 158 90
=== ) ) H=| i Y
! = zj o = Ej o
1001 S - 300 | o =5
B T LS 3 L 2 & M42x63
e} 0 ~
s e — @ el 25 250 © |
© - 190
25 19 i s 72 ¢ o2 E
SIES &} TH> ) S g z — p . el
D D | D D ~ —
103 ‘ 300 4031117 300 S
390 M24 358 lI|_ 390
8 510 _|185 8 518
713
SK 11282AFSH SK 11282VF
k2Bre kBre
k2 k
72 502 m n 802 m n
9] |
~ = SR e / = 1 Y )
HE ijff g 300 HE §j gl
e — ) - 228 — ) ) B
w2 i 2 e |l e
- ~
e @ — | Je @ 25 250 00 © ]
=S e 2 of L&l 2 N
3 S 7 **H 3 8 = == =
! Cl & 300 |10 ©
K & & & ' -
f ! ]|
o8 ies M24] g 518
713
al | b1 |cl1|el| f1 s1
660| 550| 35 | 600 8 | 8x26
SK 11282ASH = A22 6715 _
P—— P %
ol Ty |
Jlo o
Q| © ©
ST == _‘_,—@ =
100 110
g je
es) | | @
s = 1=
+ o0 AdS 280 S 280 M 315S 315 M 315L
g 555 555 610 610 610
g1/ g1Bre 432 /432 432 /432 500 /- 500/ - 500 /- 3
k1/k1Bre | 1323 /1503 |1313/1603| 1425/— 1585/ — 1725/ -
k2 / k2Bre | 1395/1575 | 1385/ 1675 1497 /- 1657 / — 1797 / - o G107
k / kBre 1623 /1803 | 1613 /1903| 1725/— 1885/ — 2025/ -
m / mBre 144 /144 144/ 144 132/- 132/- 132/- ﬁ
n / nBre 236/ 236 236 /236 307 /- 307 /- 307 /-
p / pBre 300/ 300 300/ 300 380 /- 380 /- 380 /-
C96 G1000 www.nord.com



SK 11382

SK 11382AZSH SK 11382vVZ
kiBre \Bre
,
k1 K glBre
484 (4930) m n
784 (793Y) m n gl
AL N 158 90
0 — o |
ST = YT
10] = —EJ s00_| Lo =
o) o) 0|
d 3 <
® ol — i @ 25 250 ©
© Yi T © ©on 190 o
3 = 0 gl = S <
g2 s g g g( 2 = B
| ;
D © D D
103 300 403 300 [ M24x36 ~
390 M24 358 Il 390 882
8 510|185 8 518 940
713
SK 11382AFSH SK 11382VF
k2Bre kBre
k2 k
72| 484 (493)) m n 784 (7931) m n
90
G = T )
= [ee —
3 < 8 2
e S — | de @ S ~
1 - 25 250 190 5
g g 1 8 R 2
é S L | 3 8l 5 g N e (N ] —
! Cl B 300 |10 ©
mo & ° P T <
i ]
- 510 _[185 M24 90 518 940
713
al | b1 | cl1|el| f1 s1
660 | 550| 35 | 600 8 | 8x26
SK 11382ASH =m A22 675
g | EW,_I—'_\_% V E
38 3
g '°
100 110
el = 7e
o } o
Q0 | o)
= = =
+ o a45 | 160 M/L [180MX/LX| 200 L 225 S/IM 250 M 280 S 280 M" | 3158" [315M" | 315 L"
g 320 358 398 398 495 555 555 610 610 610
g1/9g1Bre| 242/242 259/259 | 306/306 | 306/306 | 392/392 | 432/432 | 432/432 | 500/-— 500/— | 500/—
k1 / k1Bre | 976/1155 | 1086/1191| 1172/1339| 1172/1339| 1253/ 1503| 1323/1503|1313/1603 1425/— | 1585/—| 1725/—
k2 / k2Bre | 1048 /1227 | 1158 /1263 | 1244/ 1411| 1244 /1411| 1325/ 1575| 1395/ 1575|1385/ 1675 1497 /- | 1657/—| 1797 /—
M
k / kBre | 1276/1455 | 1386/1491| 1472/ 1639| 1472/ 1639| 1553/ 1803| 1623 /1803|1613/1903 1725/— | 1885/—| 2025/— @i 107
m / mBre 52/52 93/78 110/110 | 110/110 | 129/129 | 144/144 | 144/144 | 132/- 132/— | 132/-
n/ nBre 186/ 186 132/162 | 192/192 | 192/192 | 236/236 | 236/236 | 236/236 | 307/— 307/—- | 307/-
p / pBre 186/186 152/162 | 260/260 | 260/260 | 300/300 | 300/300 | 300/300 | 380/-— 380/— | 380/—
www.nord.com G1000 c97



SK 12382

9,

SK 12382AZSH SK 12382VZ
k1Bre
kBre
k1 K g1Bre
)
484 (493)) m n 78e (7990) — i
158
o - 158 90
0 ~ 0
=R = Q%—ifjj?yk T\
o EL D wlle TELEHT9
3 T J 2 | J U E @ @ M42x63
® ol _ @ ol 25 250 © ]
f [T <o) ; 190 [Te) ’t
2o e 3 2o 15 i =i
8|2 g} 8 83 '8 i 2
S S © 8
< @ f | L3 @ ~ B —
103 300 403 300, [ M24x36 ~
390 M24 358 11| 390 882
8 510|358 8 518 940
886
SK 12382AFSH SK 12382VF
k2Bre kBre
k2 k g1Bre
72| 484 (493)) m n 784 (7931) m
90
= I = T Y ) e ] / { = 5
= fielfe 500 SR
- el — ) ) - 228  —
9 in 2 e |l
R g R T2 25 250 =
I 1 s EER -
z S I 2 3 = =
| E 300
nmka ) & &
| ]
|- 510|358 24 0 518
886
al | b1| cl1|el| f1 s1
660 | 550| 35 |600| 8 | 8x26
SK 12382ASH =t A22 84
S p—'s
S| 8 =
S I®
100 269
) Te
00 | | co
= =
+ o[ A45 200 L 225 S/IM 250 M 280 S 280 M" 3158" | 315M" | 315L"
g 398 398 495 555 555 610 610 610
gl1/g1Bre | 306/306 | 306/306 | 392/392 | 432/432 432/432 | 500/- | 500/- | 500/— 1
k1/ k1Bre | 1172/ 1339|1172/ 13391253 / 1503|1323 / 1503| 1313 /1603 | 1425/—| 1585/ —| 1725/ —
k2 / k2Bre | 1244 / 1411|1244 / 1411|1325/ 1575|1395 / 1575| 1385/ 1675 | 1497 / — | 1657 | — | 1797 [ — o C107
k/kBre |1472/1639|1472 /16391553 /1803|1623 /1803| 1613 /1903 | 1725/—| 1885/ —| 2025/ — )
m/mBre | 110/110 | 110/110 | 129/129 | 144 /144 144/ 144 132/—- | 132/—-| 132/- ﬂ
n/ nBre 192/192 | 192/192 | 236/236 | 236 /236 236/236 | 307/- | 307 /- | 307 /-
p / pBre 260/260 | 260/260 | 300/300 | 300/300 300/300 | 380/— | 380/— | 380/-
C98 G1000 www.nord.com



SK 1282/02 -
SK 9382/42

gA Bre glBre
qA ql
- qZ m n
N =N
Q}Jrﬁ = ‘m ~N
| . B EENE ]
TIE=
| i
] I
] H
% i
|
to A45 | SK 1282/02 SK 2282/02 SK 3282/12
63 SIL 63S/L | 71S/L 80S 63L 71L 90 S/L
g 130 130 145 165 130 145 183

gl/giBre| 115/123 115/123 | 124 /133 | 142/143 | 115/123 | 124/133 | 147/148

m / mBre 16/23 16/23 | 42/44 | 47/51 16/23 42149 52 /56 1

n/ nBre 100/ 132 100/132| 100/132 | 114/153 | 100/132 | 100/132 | 114/153 *

p/ pBre 100/ 87 100/87 | 100/87 | 114/108 | 100/87 100/87 | 114/108 : S G102
h2 89 89 106 _
qZ 142 158 171 *

gA/qABre| 338/394 | 354/410| 394/452 | 419/483 | 367/423 | 407/465 | 473/548 :

SK 1282 =0 C77 SK 2282 =[] C78 SK 3282 =11 C80
+ o[l A45 SK 4282/12, SK 5282/12 SK6382/22, SK7382/22
63 S/L 71 SIL 80S 100 L 71L 80 S/L 90 S/L 100 L
g 130 145 165 201 145 165 183 201

g1/gi1Bre | 115/123 | 124/133 | 142/143 | 169/159 | 124/133 | 142/143 | 147/148 | 169/159

m/mBre | 16/23 42/ 44 47/ 51 58 /62 36/43 41745 46 / 50 52 /56

ninBre | 100/132 | 100/132 | 114/153 | 114/153 | 100/132 | 114/153 | 114/153 | 114/153 !

pl/pBre | 100/87 | 100/87 | 114/108 | 114/108 | 100/87 | 114/108 | 114/108 | 114/108 " om c102
h2 106 125 _ c103
qZ 175 179 *

gA/qABre | 371/427 | 411/469 | 436/500 | 507/598 | 409/467 | 434/498 | 475/550 | 505/596 '

SK 4282211 C82, SK 5282111 C84 SK 638221 C87, SK 7382=[1] C89
+ o] A45 | SK 6382/32 SK 7382/32, SK 8382/32 SK 8382/42, SK9382/42
W/IEC | 80S/L | 90S/L 100 L 112M | 90 S/L 100 L 112M | 132S/M
g - 165 183 201 228 183 201 228 266

g1/g1Bre - 1421143 | 147 /148 | 169 /159 | 179/170 | 147 /148 | 169/159 | 179/170 | 204 /196

m / mBre - 41/45 | 46/50 | 52/56 | 68/72 | 26/30 | 32/36 | 48/52 | 51/44 ;

n/ nBre - 114 /153 | 114 /153 | 114/153 | 114 /153 | 114/153 | 114 /153 | 114 /153 | 122/185 _

p / pBre - 114 /108 | 114/108 | 114/108 | 114 /108 | 114/108 | 114/108 | 114 /108 | 122/139 =Ll C103
h2 155 155 175 \ C104
qz 219 219 260 *

gA | qABre . 474/538\515/590\ 545 /636 | 568 /661 | 536 /611 | 566 /657 | 589 /682 | 675/ 782 '

SK 6382 SK 7382=(1] C89, SK 8382=[1 C91 SK 8382 (11 C91, SK 9382=L C93
=0 C87
www.nord.com G1000 C99



SK 9382/52 -
SK 11382/52

a

gA Bre
gA
qZ m n
B = = \
el e B
= —

@q

=[] C104

4
@

+ o[ A4S SK 9382/52, SK 10382/52, SK 11382/52
100 L 112 M 132S/M | 160 M/L | 180 MX/LX
g 201 228 266 320 358
g1/g1Bre | 169/159 | 179/170 | 204/196 | 242/242 | 259 /259
m/mBre | 32/36 48152 51/44 | 52/52 93/78
ninBre | 114/153 | 114/153 | 122/185 | 186/186 | 132/162
p/pBre | 114/108 | 114/108 | 122/139 | 186/186 | 152/162
h2 212
qz 300
gAlqABre| 606/697 | 629/722 | 715/822 | 792/971 | 922/1027

SK 9382 = [l C93, SK 10382 =1 C95, SK 11382=L1 C97

C100

G1000

www.nord.com



SK...-W
110
j‘i& (SK 1382NB)
. ! (8)
® _ 3 4 s
[Co)¢o}
Wxx
1 M= < © He== @
Y i
\ M5
SK 0182NB =[] C68-C70
SK 0282NB = C71-C73
SK 1382NB =[] C74-C76
SK...-IEC ...

IEC a b d e f 1 o s t

63 140 95 11 115 3,5 23 85 M 8 12,8
71 160 110 14 130 4,0 30 85 M 8 16,3
80 200 130 19 165 4,0 40 103 M10 21,8
90 200 130 24 165 4,0 50 103 M10 27,3
100 250 180 28 215 5,0 60 126 M12 31,3
112 250 180 28 215 5,0 60 126 M12 31,3

[ecRNe RNe Ko )l N& I I i =

www.nord.com G1000 C101



SK..-W
122
40
17
I =
& 32 4 18
12
RN N U i1 o =
I& ©
\ﬁ
SK 1282 =>[ C77
SK 2382 =0 C79
SK 3382 =>[0 C81
SK 1282/02 =0 C99
SK 2282/02 =0 C99
SK 3282/12 =>[J C99
SK 4282/12 =0 C99
SK ... -IEC ... SK 5282/12 > C99
0
\
LS
4 N
S IS
+—+— = NS jA
(S
-
o
IEC a b d e f | o s t u
63 | 140 95 11 115 | 3,5 23 85 M8 | 12,8 4
71 160 | 110 14 130 | 4,0 30 89 M8 | 16,3 5
80 | 200 | 130 19 165 | 4,0 40 105 | M10 | 21,8 6
90 | 200 | 130 24 165 | 4,0 50 105 | M10 | 27,3 8
100 | 250 | 180 28 215 | 5,0 60 130 | M12 | 31,3 8
112 | 250 | 180 28 215 | 5,0 60 130 | M12 | 31,3 8

C102 G1000 www.nord.com



SK..-W
172
50
| 8
=
o 405 27
[
i
o - i
Is o
\@
- SK 2282 >0 C78
SK 3282 =[] C80
SK 4382 =[0 C83
SK 5382 =[] C85
SK 6382/22 =0 C99
SK 6382/32 o0l C99
SK...-IEC SK 7382/22 =0 C99
SK 7382/32 o0l C99
o Je SK 8382/32 >0 C99
= | =1
- i

IEC a b d e f 1 o s t u
71 160 110 14 130 4,0 30 88 M8 16,3 5
80 200 130 19 165 4,0 40 107 M10 21,8 6
90 200 130 24 165 4,0 50 107 M10 27,3 8
100 250 180 28 215 5,0 60 124 M12 31,3 8
112 250 180 28 215 5,0 60 124 M12 | 31,3 8
132 300 230 38 265 5,0 80 156 M12 41,3 10

www.nord.com G1000 C103



SK...-W

213
80
8
R
70 .5 4
Je
|
_ _ w ==
13
\ M12
SK 4282 =L C82
SK 5282 =L C84
SK 6382 =L C87
SK 8382/42 =L C99
SK 9382/42 =L C99
SK 9382/52 =L C100
SK 10382/52 =L C100
SK ... -IEC ... SK 11382/52 = C100
N
= ‘ =
Iy S
- .
ol S ¢
& L8
| =
i
IEC a b d e f | o s t u
90 200 130 24 165 4,0 50 109 M10 27,3 8
100 250 180 28 215 5,0 60 133 M12 31,3 8
112 250 180 28 215 5,0 60 133 M12 31,3 8
132 300 230 38 265 5,0 80 190 M12 41,3 10
160 350 250 42 300 6,0 110 194 M16 45,3 12
180 350 250 48 300 6,0 110 194 M16 51,8 14
C104 G1000 www.nord.com



SK..-W
288
110
. 8
4&ij‘
% 90 10 45
Qo
JE— JE— ===
2 F =
\M
S— Shg? oo
SK 6382 W VL =1 C87
SK 7282 =[] C88
SK 7382 =0 C89
SK 8382 =0 C91
o
SK ... - IEC ... SK 9382 %
IEC 100 - 200 IEC 225 - 280
IEC a b d e f | o s t u

100 | 250 180 28 215 5,0 60 127 M12 | 31,3 8
112 | 250 180 28 215 5,0 60 127 M12 | 31,3 8
132 | 300 230 38 265 5,0 80 177 M12 | 41,3 10
160 | 350 250 42 300 6,0 110 266 M16 | 453 12
180 | 350 250 48 300 6,0 110 266 M16 | 51,8 14
200 | 400 300 55 350 6,0 110 229 M16 | 59,3 16
225 | 450 350 60 400 6,0 140 303 M16 | 64,4 18
250 | 550 450 65 500 6,5 | 140,5 | 303,56 | M16 | 69,4 18
280 | 550 450 75 500 6,5 | 140,5 | 303,5 | M16 | 79,9 20

www.nord.com G1000 C105



SK...-W

65 m6

==
—

SK 8282 = C90
SK 8382 W VL =L C91
SK 9282 =0 C92
SK 9382 W VL =[] C93
SK...-IEC ...
-0
= ‘ =
=N s
= s
ST
= | &
| =
I
= IEC 132 - 200 IEC 225 - 315
IEC a b d e f 1 o s t u

132 | 300 230 38 265 5,0 80 177 M12 | 41,3 10
160 | 350 250 42 300 6,0 110 266 M16 | 453 12
180 | 350 250 48 300 6,0 110 266 M16 | 51,8 14
200 | 400 300 55 350 6,0 110 229 M16 | 59,3 16
225 | 450 350 60 400 6,0 140 303 M16 | 64,4 18
250 | 550 450 65 500 6,5 | 140,5 | 303,5 | M16 | 69,4 18
280 | 550 450 75 500 6,5 | 140,5 | 303,5 | M16 | 79,9 20
315 | 660 550 80 600 75 | 170,56 | 381,656 | M20 | 854 22

C106 G1000 www.nord.com



SK...-W

S =T
& 110 15 _ 745
I'e
S O 1 o =
Is &
\_M20
SK 10282 =L C9%4
SK 11282 =L C96
SK 10382 =L C95
SK 11382 =20 C97
SK 12382 =[] C98
SK ... -IEC ...
IEC 160 - 200 IEC 225 - 315

IEC a b d e f 1 o s t u

160 350 250 42 300 6,0 110 266 M16 45,3 12

180 350 250 48 300 6,0 110 266 M16 51,8 14

200 400 300 55 350 6,0 110 229 M16 59,3 16

225 450 350 60 400 6,0 140 303 M16 64,4 18

250 550 450 65 500 6,5 140,5 | 303,5 | M16 69,4 18

280 550 450 75 500 6,5 140,5 | 303,5 | M16 79,4 20

315 660 550 80 600 7,5 170,5 | 381,5 | M20 85,4 22

www.nord.com G1000 c107



vVZ @

SK 1282 AZ(VZ)- SK 6282 AZ(VZ)-
SK 5382 AZ(VZ SK 8382 AZ(VZ
— _B_\
@ r‘ @
mA N
= .
2 ©
© = = N
SR Q| ©,
& g .
cl c1>7<
flH— fleH—
+ o[ A45 a1l b1 cl el ‘ f1 ‘ s1 ‘ mH | X
SK0182NB .Z =L C70
SK 0282 NB .Z =) C73
SK 1382 NB .Z =) C76
SK 1282 .Z 140 95 13 115 6 M8 x 13 122 60 4
SK 2282 .Z
SK 2382 .Z 160 110 12 130 5 M8 x 13 139 70 5
SK 3282 .Z
SK 3382 .Z 200 130 7 165 7 M10 x 16 174 90 6
SK 4282 .Z
SK 4382 .7 230 160 11 194 5 M12 x 20 195 110 7
SK 5282 .Z
SK 5382 .Z 250 180 9 215 5 M12 x 20 230 130 7,5
SK 6282 .Z
SK 6382 .Z 300 230 11 265 4 M12 x 20 290 140 8,5
SK 7282 .Z "
SK 7382 .Z 350 250 11 300 5 M16 x 25 310 170 6
SK 8282 .Z .
SK 8382 .Z 400 300 13 350 5 M16 x 25 366 210 7
PR = W =N
& 4
A 2
iH3 . ><>< ﬁ
—% = — o —F
ol g = K,
S © s o
== == o
@ ¢ ]
cl 1 11
‘ el Pl
f1 | \ q
iH i3 e
mH
. a e n S h i iH |
+ o[ A45 al b1 cl el f1 s1 a2 £ p s2 b3 i3 iH3 MF mH x
SK 9282 .Z 245 | 306 80 | @25x30| 295 315 65 250
SK 9382 .Z 450 | 350 141 400 5 M20 x 30 360 | 440 | 122,5 |M30x45| 180 | 283,5| 33,5 640 430 10

SK10282.Z | =) C94
SK10382.Z | =L C9

SK 11282 .Z =L C96
SK 11382 .Z =L C97

SK 12382 .Z = C98

C108 G1000 www.nord.com




ol

vVZ

SK 0282NB -
SK 1382NB

SK 0182NB
SK 1282 - SK 5382

SK 6282 -
SK 12382

X
— jan
NP
I — | )
% '\
i T B W R
i > e \ \\J / >
o1 ]
X1 X
+ o[ A45 d1 M x t LK X X1 Y Y1
SK 0182 NB .Z 26x10 85 41,05 - 11,00 -
SK 0282 NB .Z o 6x12 100 - _ _ _
SK 1382 NB .Z o 8x12 115 - _ _ _
SK 1282 .Z o 8x12 115 56,14 56,14 12,45 12,45
SK 2282 .Z
SK 2382 .Z 8 8x12 130 62,79 62,79 16,82 16,82
SK 3282 .Z
SK 3382 .Z 2 10x 15 165 80,54 80,54 17,86 17,86
SK 4282 .Z
SK 4382 Z 212x20 194 93,69 93,69 25,11 25,11
SK 5282 .Z
sK53a2 9 12 x 20 215 104,95 104,95 23,27 23,27
SK 6282 .Z
ket 2 312x20 265 111,75 111,75 7119 71.19
SK 7282 .Z
SK 7382 Z 2 16x30 300 126,51 126,51 80,59 80,59
SK 8282 .Z
SK 8382 .Z 2 16 x 30 350 147,59 147,59 94,03 94,03
SK 9282 .Z
SK 9382 .Z 2 16 x 30 400 168,68 168,68 107,46 107,46
SK 10282 .Z
SK 10382 .Z 225x35 500 176,78 204,79 176,78 143,39
SK 11282 .Z
SK 11382 .Z 825x25 500 176,78 204,79 176,78 143,39
SK 12382 .Z 225 x 25 500 176,78 204,79 176,78 143,39
www.nord.com G1000 C109



AX VX AX VX AX VX

L —A\J’
F @ @
3 ) . |
HI T m 1] m == "
\ | S
q * 3 ) ) =g
I o)
3
) ) o &) L
| a
i3 | e
tomms| alb el el flnls b3 n] i 3 | iH |iH3 | m |mH| x | xH |xH1| M
SK1282 X | 142 | 80 | 16 | 164 | 110 | 30 | 11 | 43 | 77 | 53,0 | 42,0 | 7.0 | 18,0 | 115 | 122 | 40 | 40 | 3.0 | 170
SK 2282 X
oR2282.X 1165 | 80 | 20 | 195 | 116 | 36 | 13 | 49 | 90 | 645 | 495 | 55 | 205|126 | 139 | 50 | 50 | 80 | 200
SK 3282 X
k3282|195 | 125 | 25 | 225 | 165 | 40 | 13 | 62 | 107 | 790 | 640 | 110|260 | 162 | 174 | 60 | 60 | 60 | 236
SK 4282 X
g X220 | 125 | 28 | 260 | 170 | 45 | 18 | 73 | 123 | 1005 | 805 | 95 | 295 | 181 | 195 | 7.0 | 7.0 | 70 | 280
SK 5282 X
X250 | 175 | 35 | 200 | 220 | 45 | 18 | 90 | 146 | 1175 | 975 | 125 325|215 | 230 | 75 | 7.5 | 75 | 320
SK6282 X | 330 | 195 | 40 | 390 | 265 | 70 | 26 | 101 | 172 | 1225 | 92,5 | 26,0 | 56,0 | 273 | 290 | 85 | 85 | 85 | 360
SK 6382 X
SK7282 X | 370 | 215 | 45 | 440 | 305 | 90 | 33 | 113 | 197 | 140,0 | 105,0 | 30,0 | 65,0 | 298 | 310 | 6,0 | 6,0 | 6,0 | 424
SK 7382 X
SK 8282 .X| 150 | 240 | 60 | 500 | 350 | 110 | 33 | 124 | 225 | 184,0 | 144,0 | 26,0 | 66,0 | 352 | 366 | 7,0 | 7.0 | 7.0 | 500
SK 8382 X
AXSH VX AXSH / VX
& &
H3 o O
ol ] [ ] [
o | N [ . 1 ON| o -
ol O | O
] — ] CEI
~ —— - | S—
= A n2 = n2
a [|r2 i a [ [r2
e i3] e
+ o[ A45 a a2 c e e2 n n2 r r1 r2 s i i3 iH iH3 M
SK9282 X
oK oxe2 X| 470 | 360 | 70 | 570 | 460 | 100 | 190 | 115 | 50 | 50 | 45 | 225 | 175 | 25 | 75 | 640
SK 10282 X
o 10282 X1 450 | 420 | 100 | 530 | 530 | 110 | 170 | 100 | 55 | 40 | 39 | 313 | 273 | 13 | 27 | 680
SK 11282 X
S iae2X| 500 | 600 | 110 | 600 | 720 | 120 | 200 | 112 | 60 | 50 | 45 | 303 | 253 | 3 | 47 | 940
SK12382 X | 500 | 600 | 110 | 600 | 720 | 120 | 200 | 112 | 60 | 50 | 45 | 303 | 253 | 3 | 47 | 940

C110 G1000 www.nord.com



SK ... AVSH =00 A22-26
S
mH
3 —
Sk T \
Q T I - T
S| i
S
= o,
B IH
e e | [ e B
= I o xH hHB
~
e o mHB
S =
+ o[ A45 D dH d 1B IH mH xH hHB HB mHB
SK 7282 AVSH
SK 7382 AVSH 110 85 85 56 120 429 6,0 147 258 446
SK 8282 AVSH
SK 8382 AVSH 130 100 100 71,5 149 510 7,0 198 306 544
SK 9282 AVSH
SK 9382 AVSH 160 130 130 82 182 607 10,0 235 364 631
SK 11282 AVSH
SK 11382 AVSH 240 180 180 101,5 195 755 10,0 255 455 783
www.nord.com G1000 C111




AH

X g

]
SK ... AH SK ... AH 66
SK ... AZH SK ... AZH 66
| o
— ]
nHB
— —1
mH
£ o[ Ad5 hHB mHB + o0 A45 2D L
SK 0182 NB AH SK 1282 AHG6
SK 0182 NB AZH 25 122 SK 1282 AZH66 80 25
SK 0282 NB AH SK 2282 AH66
SK 0282 NB AZH & L= SK 2282 AZH66 e e
SK 1382 NB AH SK 3282 AH66
SK 1382 NB AZH 36 209 SK 3282 AZH66 104 35
SK 1282 AH SK 4282 AHG6
SK 1282 AZH & 10 SK 4282 AZHG6 1% b
SK 2282 AH SK 5282 AH66 154 28
SK 2282 AZH SK 5282 AZH66
k2282 A2 43 174
SK 238 SK 6282 AH66 o o
SK 2382 AZH SK 6282 AZH66
SK 3282 AH SK 7282 AHG6 o1 -
SK 3282 AZH SK 7282 AZH66
SK 3382 AH (2 Ak
SK 8282 AH66
SK 3382 AZH SK 8282 AZH66 e o
SK 4282 AH
SK 4282 AZH
SK 4382 AH 2 233
SK 4382 AZH
SK 5282 AH
SK 5282 AZH
SK 5382 AH 53 2
SK 5382 AZH
SK 6282 AH
SK 6282 AZH
SK 6382 AH 53 335
SK 6382 AZH
SK7282 AH
SK 7282 AZH
SK 7382 AH e =
SK 7382 AZH
SK 8282 AH
SK 8282 AZH
SK 8382 AH 70 416
SK 8382 AZH
SK 9282 AH
SK 9282 AZH
SK 9382 AH e weld
SK 9382 AZH

C112

G1000

www.nord.com



AFVLZ2
AFVL3

SK... AFVL =01J A30

T
>
odH’ _@dns
——
N -
L
T T
N E E
2 L
L]
DdH | @aH™’ L>®d -
@b j6 (*h6 h6
Je
Ja
i
+ o[ A45 a b C e f h3 s g dH uH tH mH | dHH? IH
SK 1282 AF.. 200 130 12 165 35 75 | 4x11 | M12x1,5 | 30 8 33,3 | 180 30 40
SK 2282 AF..
SK 2382 AF.. 250 180 16 215 4,0 86 | 4x14 | M12x15| 35 10 38,3 | 208 35 50
SK 3282 AF..
SK 3382 AF.. 300 230 20 265 4,0 85 | 4x14 | M12x1,5| 40 12 433 | 246 40 58
SK 4282 AF..
N Wl 300 | 230 20 265 4,0 113 | 4x14 | M12x1,5 | 50 14 53,8 | 290 50 65
SK 5282 AF.. )
RiB352 AF.. 350 250 | 20 300 5,0 135 | 4x18 | M12x1,5 | 60 18 64,4 | 348 60 79
SK 6282 AF.. .
SK 6382 AF.. 400 300 | 22 350 5,0 166 | 4x18 | M24x1,5 | 70 20 74,9 | 437 70 120
SK 7282 AF.. .
SK 7382 AF.. 450 350 | 24 400 5,0 184 | 8x18 | M24x1,5 | 80 22 854 | 477 80 126
SK 8282 AF.. .
AR 550 450 | 28 500 5,0 210 | 8x18 | M30x2 | 100 | 28 | 1064 | 556 100 154
SK 9282 AF.. )
SK 9382 AF.. 660 550 | 32 600 6,0 262 | 8x22 | M30x2 | 120 | 32 | 127,4 | 668 120 186
www.nord.com G1000 C113




VFVL2
VFVL3

SK..VFVL =01 A30

i
N g |
-~ %) ‘
L | \ b
b1 !
| = 3%
S |
T/ >A
_ | @d| k6 (*mB)
@b 6 (*h6)
Pe
@a
— —
+ o[ A45 a b c e f h3 s g d | t u \'% w T
SK 1282 VF..
SK 1382 VF. | 200 | 130 | 12 | 165 | 35 | 75 | 4x11 |M12x15| 30 | 60 | 330 | 8 5 50 | M10
SK 2282 VF..
SK 2382 VF. | 250 | 180 | 16 | 215 | 40 | 8 | 4x14 |M12x15 35 | 70 | 380 | 10 5 60 | M12
SK 3282 VF..
oK 3382 VF. | 300 | 230 | 20 | 265 | 40 | 8 | 4x14 |M12x15 45 | 90 | 485 | 14 5 80 | M16
SK 4282 VF.. .
SK 4382 VE. | 300 | 230 | 20 | 265 | 40 | 113 | 4x14 |M12x15| *55 | 110 | 590 | 16 | 10 | 90 | M20
SK 5282 VF.. . ]
SK 5382 VF. | 350 | 250 | 20 | 300 | 50 | 135 | 4x18 |M12x15 *65 | 130 | 690 | 18 | 15 | 100 | M20
SK 6282 VF.. . )
oK 6382 VF. | 400 | *300 | 22 | 350 | 50 | 166 | 4x18 |M24x15| *75 | 140 | 795 | 20 | 75 | 125 | M20
SK 7282 VF.. . .
SK 7382 VE. | 450 | *350 | 24 | 400 | 50 | 184 | 8x18 |M24x15| *90 | 170 | 950 | 25 15 | 140 | M24
SK 8282 VF.. . .
SKg382 VF. | 550 | 1450 | 28 | 500 | 50 | 210 | 8x18 | M30x2 |*110 | 210 [1160| 28 | 15 | 180 | M24
SK 9282 VF.. . .
SK 9382 V. | 660 | *550 | 32 | 600 | 60 | 262 | 8x22 | M30x2 | *140 | 250 | 1480 | 36 | 25 | 200 | M24
SK 10282 VF.. . .
SK 10382 VF. | 660 | *550 | 35 | 600 | 80 | 302 | 8x26 | M30x2 |*160 | 300 |1690 | 40 | 25 | 250 | M24
SK 11282 VF.. . .
SK 11382 VF. | 660 | *550 | 35 | 600 | 80 | 302 | 8x26 | M30x2  *180 | 300 | 1900 | 45 | 25 | 250 | M24
SK12382VF.. | 660 | *550 | 35 | 600 | 80 | 302 | 8x26 | M30x2 | *180 | 300 | 190,0 | 45 | 25 | 250 | M24

C114 G1000 www.nord.com



AFSVL2
AFSVL3

9

SK... AFSVL =01 A30

H7
JdH ?d he
— —] — ]
Z —=
= T |
S £ & §
2 an
C— — C— —
adH f7 @dhe

+ =[ A45 a b G e f h3 s g dH/ d mH mHB 1B IH
SK1282 AFS.. | 200 | 130 | 12 | 165 | 3,5 75 4x11 | M12x1,5 30 220 232 31 40
SK 2282 AFS..

SK 2382 AFS. | 290 | 180 | 16 | 215 | 40 86 4x14 | M12x15 35 264 283 41 45
SK 3282 AFS..

SK 3382 AFS. | 300 | 280 | 20 | 265 | 40 | 8 | 4x14 | M12x15 | 40 297 316 41 55
SK 4282 AFS..

SK 4382 AFS. | 300 | 230 | 20 | 265 | 40 113 | 4x14 | M12x15 50 356 328 51 55
SK 5282 AFS.. \

SK 5382 AFsS. | 350 | *250 | 20 | 300 | 50 135 | 4x18 | M12x15 60 413 4355 60 70
SK 6282 AFS.. .

SK 6382 AFS. | 400 | *300 | 22 | 350 | 50 166 | 4x18 | M24x1,5 70 517 538 71 85
SK 7282 AFS.. .

SK 7382 AFs. | 450 | *350 | 24 | 400 | 50 184 | 4x18 | M24x15 80 562 580 81 90
SK 8282 AFS.. .

Sk 8382 AFs. | 20 450 | 28 | 500 5,0 210 | 8x18 M30 x 2 100 645 670 71 95
SK 9282 AFS.. .

SK 9382 AFS. | 660 | *550 | 32 | 600 | 6,0 262 | 8x22 M30 x 2 125 773 794 82 110
SK 10282 AFS.. .

SK 10382 AFS. | 660 | *550 | 35 | 600 | 80 302 | 8x26 M30 x 2 160 944 967 122 130
SK 11282 AFS.. .

SK 11382 AFs.. | 060 550 | 35 | 600 8,0 302 8x 26 M30 x 2 180 958 997 101 110
SK 12382 AFS.. | 660 | *550 | 35 | 600 | 8,0 302 | 8x26 M30 x 2 180 1129 1166 101 269

www.nord.com G1000 C115



X g

SK... .VG =11 A29

NN -
=) A =
B - —
-5 4 I
NN
+ o[ A45 d1 d2 h c dxl FD [kN] s pp [mm]
SK 0182 NB ..G 11,0 30 15 10 M10 x 70 0,967 15
SK 0282 NB ..G 11,0 30 15 12 M10 x 70 1,04 17
SK 1382 NB ..G 11,0 30 15 14 M10 x 80 2,24 3,6
SK 1282 .G 11,0 30 15 14 M10 x 80 179 2.8
SK 2282 .G
SK 2382 .G 12,5 40 15 16 M12 x 90 2,67 1,8
SK 3282 .G
SK 3382 .G 1z 40 15 18 M12 x 90 4,16 2,9
SK 4282 .G
oK 4382 G 21,0 60 30 22 M20 x 150 7,39 73
SK 5282 .G
SK 5382 .G 2 60 30 28 M20 x 150 9,49 9.4
SK 6282 .G
oK 6382 G 25,0 80 40 35 M24 x 190 16,81 9.2
SK 7282 .G
SK 7382 .G 25,0 80 40 40 M24 x 200 20,80 1.4
SK 8282 .G
SK 9282 .G
SK 9382..G 310 100 50 55 M30 x 260 43,49 24,9
* o[ A45 d1 d2 h c dxl FD [KkN] s pp [mm]
SK7282 VG
oK 7382 VG 25,0 85 60 40 M24 x 240 20,80 12.2
SK 8282 VG
SK 8382 VG 31,0 110 90 50 M30 x 340 28,39 193
SK 9282 VG
oK 9382 VG 31,0 140 110 55 M30 x 380 43,49 212
SK 10282 .VG
SK 10382 .VG Si5Y 140 110 80 M30 x 430 56,36 274
SK 11282 .VG
oK 11382 VG 49,0 180 150 90 M48 x 550 80,89 38,5
SK 12382 .VG 49,0 180 150 90 M48 x 550 105,51 50,2
C116 G1000 www.nord.com





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 2400
  /ColorImageDepth 8
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 2400
  /GrayImageDepth 8
  /GrayImageDownsampleThreshold 10.00000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 2400
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.33333
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck true
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /DEU <>
  >>
>> setdistillerparams
<<
  /HWResolution [4000 4000]
  /PageSize [595.000 842.000]
>> setpagedevice




